Thats Applications
FAMAT Scate Conv@ntion 2009
Solutions, poge |

X = Ern RSt grede @ Lev 1390 b@ year © '|5qggooo-\ﬁ§380°°
D‘85+qa*\5;88f_§ 2 90 @ Rate of change: FL — 09,
5 ' -
* 304,400
360tXx 2 450 vy 1891 6000+11390000
X 2 20 (o) 10
= 99, 6°9°

Florido g0inS 205,900 people/year

@ x = Justin's time (309, 400+ 88,(00) and has

¢ ('é' "'}‘:')(2) s g 5,052, 090 pacple o cgtcl\ up.
2. 3 5052098 . 4945 years orf 2015 (8)
X _8. 2056800
]
R B ® X %3, of LPug
¢ (N5X62) + (.35)(x) = (.5)(62+x)
@ w=alieude, brbase Asqren 5.5 : 0.5x
¢, h+tb 2480 D h2190-p 103 3 kg, = X (<)
3851 = -;-.b(\gq_b)
3551 = %‘35 - -éh" % Jsr v e2 zi0 miles (D)
b . |
189k +2103 2 0 @ 1202-3) | gy strands (8)
b3134, h253 . 6 Y

134.83 29y ()
() Circular permutation-hold Qither o boy

@Selve for EDE= 4808 )D(" o girl cansStant.

. wed o 4! .a) 7wy ways  (A)
B Since 180 and W qr@ COAStaNLS,
€ VM“Q-; 63"92“7 wivh % @ cytinder i 2 (4 (200 » W ()2 =106
s - 3 3 (0ot ¢ top does ned have vo int
= 9 4 @) P( cong ¢ W (HXB) = 04 be painved)
(not@S ! D= Slant height 7 JFF3gd = §
u Add all bottom does not have wo be puinbﬁd)’
numhers | Total Surface Areq : 19 6n
ue (8) cans needed: 196% - g  (A)
e :

hv-2, K= 4, the poiat (0,2) s on the
D parabola

@ x = =314 2. 4 3 Q(Mn"
2 (~0.035%) -'_;,. s Q o
)"?\ = 20 2 athtk ¢ % +22+4 13 (D)
=z ~0.035(20
! = 15 td:,) *(l:;(ao)ﬂ (D 85 = ¢é4a+8b+ e .
L] 2 100 +10b+Q D YIX -3IR+4S
5 =i6%a+i3bt S = (283%- 3(257 + 45

"

$5.95 (<)



Theta Application$
FAMAT Stot® Conventiopn 2002
Sclutions, poage 2

= (x-3)(x+2)

@ Hookemand Crookom @ F£x) = (x+1)( x+¥2)
E X = (Jome) (.05285) (3) [) bhol® : x-coord. *- 2

= S - "9.'3 =y

159.50 y-coard, =5
-2+
A = 10Q0+ 15989
- ("a| s) cD)

$11512.50

Idunnah
A = j0e0 (,t.olQ.S) @ (0,1, (q,30) e
= §1160.95 y ¢ Y-be 35"“"': ¥
= [ a= b Dy 0-J3
-116%.50 = .18 @ 93 ab 3]
Aol t e o e~ ° = Q J3' = % 1000= 10-J3

Qug 100 2 X Qoy J3'

@ The bl wil bounce (.81(80000)
.4 x ()

dﬂ( or 64,000 fe. up ofter the
ficst b cQ, S, T 128,000
u;’ and od'::mn. = @ s = 15.8 times (c)
= 38000 c

Q00 =
S + 8o, n10,000

X = overtime hours

(Ad 808 = 16(40) +24x
' Nz X
@ TALLAHASSEE 1K 4o+ 1 = 42 houes c<:)2
G!Q!Q!Q" SA = q'“r.l = Y (63')’3) = I6qussa6ﬁ-m;'
fD 83, 600 (8) D (D)
& - a (59) (40) =qq_2_ ok ey
. Eq,uwbiOn thransforms tO % 50+ 40
)"‘ ("“‘ @D G5 s Sa = RINSISH Q)

= your speed

() < e
= 6O mph (A

¢
X&\ A’_E (ad)(c) @9 rows 46-¢3 : 3N Seats

Agiipse = Tixry = w(2)(5)=10wn
(e)

n

) = oe WS  1-45 ¢ FYI0 seatSD 4,3 ME+OE N
9808 botal o

4? (8) =
100000 =158

Seatd tqs s 9.5 +(15) (s

@ vertex v* -a'—g—-,n 2 -9 $90g SZ-058 ((A) s.,s-—(gmnss]
A" X3 2 (2,-2) * 5490
foeug L. 3 L alt@rnat jnterior angles
s : 0% = 92
ms- g A‘ x: 36 (A)

> (l_:'l"'l) (A)



